CLASS 12

RELATIONS AND FUNCTIONS

COMPOSITE AND INVERTIBLE FUNCTION

EXERCISE

Q1

Q.2

Q3

Q.4

Iff:R> R f(x) =2x-1and g: R — R, g(x) =x2+ 2, then (gof) (x) equals-
(A) 2x2-1 (B) (2x-1)2

(C)2x2+3 (D) 4x?2-4x+ 3

Iff:R—> R, f(x) = 4x3+ 3, then f-1(x) equals-

oS el

© % (x-3)1/3 (D) None of these

f(x) = J[x-1] and g (x) = sin x then (fog ) (x) equals -

(A)sin Mﬂ'}

(B)|sin % - CcoS )2—( |

(C) | sinx-cosx|

(D)None of these

Iff:R>R f(x)=2x+1andg:R—> R, g(x) =x3,then (gof)-1(27) equals -
(A)-1 (B)O

O©1 (D) 2
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Q.5

The domain of function f(x) = v2*-3* is -
(A) (-, 0] (B) R

(©[0, o) (D) No value of x

2
The domain of the function f(x) = sin-! [Iogg %) is -

A[-22]-(-1L1) (B) [-1,2] - {0}
©[1,2] (D) [-2,2] - {0}
The range of function f(x) = %2 is -

(AR -{1} (B) R+ v {0}
(©)[0,1] (D) None of these

242

If () = <

,thenf (x+y).f(x-y)isequalto -
(&) 5 [ Get y) + £~ )]
(B) 5 [f (2) + 1 (29)]

1
(© 5 [f&x+y). fx -y)]
(D)None of these
Ifg(x) =x2+x-2and % (gof) (x) = 2x2-5x + 2, then f(x) is equal to -

(A)2x-3 (B)2x+3

(O)2x2+3x+1 (D) 2x2-3x-1
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Q.10 Iff(x) = |x| and g(x) = [x], then value of fog (—%) + gof (—%{j is -

A0 (B)1

(©-1 (D)

ANSWER KEY

4x2 - 4x + 3
X—3 1/3
)

X X
|sin — - cos — |
2 2

1

(=0, 0]
[-2,2]-(-1, 1)
None of these

312+ (29)]

2x-3

1




